mathrm a'N

3200
O
=
$000
g800
<
(0]
£600
3400

E
§200
=

S o)) (00] g
o o o o
o o o o

N
o
o

mathrm d N / mathrm d

p)

N

Ratio to CMS
[N

0.5

«18600 GeV pp Jets
T I T I T I T I T | T I I T I T I T _|_ 9
- 15
- Thrust )\_21(charged only) (CMS jet substructure) 13
— Bk
- m CMS ] ﬁ
[ -3~ Herwig 7.2.1 default —n
~  —a— Pythia 8.308 default 1=
[ ¢ Sherpa 2.2.9 default — ;
- @
— =
- —r
- 15
HEE 43
= e
— - i
L ¢+ —.=
T 15
L — &
- 3 19
~ -9
_ S LS
L T 1=
- e -1
;h-_p_-.,_-_F : | | ! .......... {ube | | I !: =
= —2
1

| —0.5
| . L . L . . l . l
0 0.5 1

thrust (charged-only)



	Contents
	Page 1


